x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions

	 8 x 10 =

	 6 x 0 =


	 10 x 10 =
	 9 x 0 =

	6 x 3 =
	16 ÷ 2 =

	  6 x 5 =
	  20 ÷ 1 =

	 30 ÷ 5 =

	  ½   of 14 =
  


x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions

	
 12 x 10 =

	 29 x 0 =


	 36 x 10 =
	 57 x 0 =

	 9 x 3 =

	 26 ÷ 2 =


	 45 ÷ 5 =

	  ½   of 24 =
  

	 27 ÷ 1 =
	  ¼   of 28 =


x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions
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12.Jade collects 70 pencils from the school office. The pencils are in packs of 10. How many
packs does Jade collect?
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22.Fill in the missing numerals to complete this calculation.

1()x()=70
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24.There are twenty colouring pencils on Nitas table. She is asked to share the pencils
between the five children on her table.

Circle the calculation that will give the answer.

20+5 5+20 4+20 20 + 4




